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QUESTION 1

When would Simplified Routing Destination Only be used? (Select 2)
A. HSRP (Hot Standby Routing Protocol)

B. VLAN bridging

C. Multiple firewalls

D. Bridged network

E. There is no setting for Destination Only

Correct Answer: AD

QUESTION 2

A version 9 SteelCentral Controller for SteelHead (SCC) connects to managed appliances using which protocols?
A. SNMP

B. SSH and HTTPS

C. SSH and API access

D. SSH only

E. SNMP and SSH

Correct Answer: D

QUESTION 3

Which TCP port will two Interceptor appliances communicate across in a parallel deployment?
A. 7800

B. 7810

C. 7840

D. 7850

E. 7860

Correct Answer: E

QUESTION 4
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Select the command needed to add support for virtual in-path to your Steelhead appliance so that you can use WCCP
or PBR with a Steelhead appliance.

A. in-path inpathO_0 enable
B. in-path oop enable

C. ip virtual enable

D. in-path virtual enable

E. in-path wccp_pbr enable

Correct Answer: B

QUESTION 5

While performing a health check for a Steelhead appliance at a remote site, you noticed some of the pass-through traffic
should have been optimized. The pass-through reason for the suspicious traffic is "SYN on WAN side". Upon further
investigating, you also noticed that all of the traffic initiated at the data center is pass-through while all of the traffic
initiated at the remote site is optimized. There is only one path between the data center and the remote site and both
Steelhead appliance are physically in-path. What are the possible causes? (Select 2)

A. There is a pass-through in-path rule configured on the data center Steelhead appliance.

B. There is a pass-through in-path rule configured on the remote site Steelhead appliance.

C. There is a pass-through peering rule configured on the data center Steelhead appliance.

D. The LAN and WAN interfaces on the data center Steelhead appliance are reversed.

E. The LAN and WAN interfaces on the remote site Steelhead appliance are reversed.

Correct Answer: AD
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